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18 @ & fmd @ e anvat &
g F #r

A T 54 oy awRig g
(Q. Nos. 9 & 12) & Faad @ faaf
257 & Fav 233 §1

5. This question booklet is divi

[ 131,

ded i,
two sections — Section-A4 g,

Q
which 40 questions are mmpufsor;
If the candidate answers more than
90 questions, the first 40 answery
orly will be evaluated. Each
question camies 1 mark. For
answering these darken the correg
circle given on the OMR answer
sheet with black./ blue ball pen,
Do not_ use whitener / Hguid
material./ blade / nail ete. on

the OMR answer sheet othertwise

the result will be treaqted
invalid.
. In  Section-B there are Shon

Answer Type queslions of
2 subjects of Social Sctence. Each
question carries 2 marks,

History has 6 Short Answer Type
questions (Q. Nos. ] (g 6) out of
which any 3 questions are to be
answered,

Political Sclence has 4 Shon
Answer Type questions (Q. Nos.
9 to 12 out of which any
2 questions are to be answered.
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s % a4 g 3wl 5w
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HGET WA= § 4 7Y IF0T g9
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29y & 3mw 3 &

% sifafe 8 T FWIE S

/0. Nos. 7, 8, 13, 14, 19, 20,27, 28

¥ goF v & ol 4 d& iR
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[111]
Economics has 4 Short Answer
Type questions {Q. Nos. 15 to 18]
out of which any 2 guestions are
to be answered.
Geography has © Short Answer

Type questions (Q. Nos. 21 10 26}
out of which any 3 questions are

to be answered.

Disaster Management has

& Short Answer Type questions
{Q. Nos. 29 to 32} out of which any
2 guestions are to be answered.

Apart from these, there are 8 Long

Answer Type guestions (Q. Nos. 7,
8 13 14, 19 20, 27, 28). Each

question carries 4 marks. One Long
Answer Type gquestion each from
History, Political Science, Economics
and Geography is to be answered.

Use of any electronic appliances ts

strictly prohibited.
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WYE - A / SECTION - A
THFS W / Objective Type Questions

WYY FoAT 1§ 80 T & Uedw WA & W ww frwew o o £ frnd & oy |

aﬁ#:mmqﬁwwﬁ%mﬁmrﬁzwﬁﬁaﬂ#JMt

40 3T F H v &4 40 x 1 = 4 |

Question Nos. 1 to 80 have four options each, out of which only one iy

correct. Mark your selected option on the OMR sheel. Answer any

<40 questions.

40 < 1 = 10
1. 30 wm = qre R s o o

(Al FR (B) gdme

(C) F<us (D) urefe

Which is called the Cradle of Europcan Civilization ?

(A) Greccc {B) Portugal

(C}) England (D) Poland
2. @ & Gue B Fed

(A) SER (B) ®wg

€) S (D) e
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FII

SR

The Parliament of Russia is called

(Al Dict (B) Parhamcent
(C1 Dumau (D) Senate
wrAdTa Fgfae o 6 e @ g 2

(A)  TEIH (B) @felv

© g (D) @RS

Where was the Communist Party of India established ?

(A) Lucknow (B] Berlin
(C) Delhi (D) _Tashkent
dtfes S e Rl wiid ﬁwn ™12

(A) SR | (8) Wi

(C) TIHHE (D) femam
Where was Tankibn free school established ?
{A}‘ Cambodia (B) France
(C) Laos (D) Vietnam
e Tt frsh TR i urita g3 ?

(n) @ foe (8 8 frm
) e seE (D) ®iS HeA
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| B

Dunng whose reign was the llbert bill passed ?

(Al Lord Lvtton (B] Lord Ripon
(C] Lord Dalhousie (D) Lord Curzon
6. m@nmﬁmmmmmaﬁmﬂﬁWWW?
(A)  FeTg (B) @mk
() &@T= (D) wu
In which Congress session was the proposal of non-cooperation
movement adopted ?
(A) Nagpur ' (B) Lahere
© Lucknow ©F \Karach;
7. SO R e 3w garr
(A} W (B) eive
_;Cr”;‘ﬁ (D} bR
In which country did printing start ?
(A) India (B)] England
(C) China (D} Germany
8. §i3Udw W wenm R g 2
(A} T @ (B) WifieT Igw
() i (D) =fé e
24(M)-H/S-41005-(s1/60) Page 6 of 40

by:BSEBResult.In



10.

[111]

Who published ‘Independence’?

(A) Annic Besant (B) Motilal Nchru

(C) Gandhip (D) Martin Luther
gftu faaem o fermehl wom geen 4t ?

(A) & h fem gy wa

(C) = fe fam (o) frEa®

Who had the first government in South Vietnam ?
(A) Ho Chi Minh (8) Bao Dai

(C) Ngo Dinh Diem (D) .Sihanouk
YYH 341 HTE FH AL A 2

(A) . 1854 (B) 1864

I{CJ 1874 (D) 1884

When was the first Geneva Convention held ?

(A) 1854 (B) 1864
(C) 1874 (D) 1884
il ﬁam%ﬁﬂaﬁmﬁwﬁwmﬁwmmgw?
() T R (B) Tele TR
(C) TIEEA FHITA (D) SATeER 34 @R
“T24(M)-H/S-41005-s1/50 Page 7 of 40
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12,

13.

14.

I“ll

Aguainst which law was a mceting organiscd in Jallianwali Baph »

(A) Ibert Bill (B) Rowlatt Act

(C)  Simon Commission (D) Vernacular Press Act
Rl % Chaw e el g o

(A) 1861 (3) 1871

(€} 1720 (D) 1817

When was the unification of Italy completed ?

(A) 1861 (B) 1871

(€ 1720 (D) _1817

¢ Rl foow 2n =1 ?‘

(A) it _B] W8

(C) iR (D) el

Louis Philippe was the ruler of which country ?
(A} Germany (B) France

(C) Austria (D) ltaly

I wieen @ ) dheon fem ad 1 9w o o
(A) 1975 (B) 1978

(C}) 1980 (D] 1985

24(M)-H/S-41005-(51/60)
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16.

7.

{ A

In which year was the Intcrnational Women's Day announced ?

(A) 1975 (B) 1978
(C) 1980 (D) 1985
W fave eneR w1 1 G FE >l 2

(A) 1995 (B) 1996
(C) 1998 (D) 1999

When did India become a member of the

Organization ?

(A) 1995 (B) 1996

(€) 1998 (D)(.1999

fafes g A nidw #0 Q2

(A) ATEE | B F-U-fE
(C) GEgEeAr - (D) 3 & a9

What title did the British government give to Gandhiji ?

(B) Kaiser-e-Hind

(A)  Knight
(€) Mahatma (D)  All of these

o€ a1 @ fra JriereR Hi LeT g 2

(A)  HEEEm CeH (B) WRa BIF HEH

(c) wfrm yam e (D) SRV HeATIR

World Tradc

by:BSEBResult.In
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18.

19.

1111|

Which movement was started with Dandi March 2
(A} Non-cooperation Movement

(B)  Quit India Movement

(C)  Civil disobedience Movement

(D)

Champaran Satyagraha

ﬁuﬁﬁﬁmﬁmaﬁnﬂwqaégi?

(N e e & (B) 8@ &% e 3oem
(C) hmsﬁzﬁ (D) 3femads

Which of the lollowing banks was established first ?

(A)  Punjab National Bank (B} Central Bank of India

(C) Bank ofindia (D) Indian Bank

aﬁaammésiﬁuam%mm&laﬁqa?

(A) = T faee (B) ®E TR T
(C) e Fo irge (D) |9 I =g

Who was the first President of All India Trade Union Congress 7

(A)  Bal Gangadhar Tilak (B} Lala Lajpat Rai

(C]  Gopal Krishna Gokhale (D) Subhash Chandra Bosc

24(M)-H/S-4 1005-(s1/60;
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,J.”.

21.

22

Wied 5ﬁr§m q‘,‘r;qq A1 A FHTTA A4 #‘” -
[(A) 16902 [B) {90,
C) 1911 (D} 1212

When was the All India Muslim League «stznlisnen =

(A) 1902 (Bj %04
(C) 1911 IDj 1912
(A)  FARE B =7

(C) wfsm (D)~ 3R\

Where is Simlipal National Park locztec -

(A) Karnataka (B) Kerzlz

(c) &

(A] Tamil Nadu (Bl Ramataka

(C) Kerala (Dj Wes: Benga.

¥
i
"
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24.

23.

[11.
Pofdan o dem Raadd?

A e () WA

(€) U (D) QT

Which ol the following ports is not located on the eastern coag >

(A)  Tuticorin (B) Marmagao

(C)  Paradip (D) Vishakhapatnam
=8 s g s s 2 2

(A)  SeEy : (B) Tt

(Cy wEH () _ ¥ 4@

Which of the following is a factor of soil formation ?

(A) Chmate (B) Vegetation
(C) Rocks (D}  All of these
NTH TFR 2

(A) T (B) uW &

(C) W& & (D) =0

Aus is a type of

(A) Wheat (B) Rice

(©)  Maize (D)  Millet

24{M}-H/S-41005—|51nn_1]
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26.

27.

28.

[111]

fra § @ *1 Rt to viee &1 g&aTel d R ?

(A) feemg (B) EE

(€ R©x (D)  icTHIT

Which of the following is not the headquarters of any railway
zone ?

(A}  Bilaspur (B) Hajipur

(C) Indore (D) Kolkata

= 3§ & B Al e s dRm @ 4 4 2

(A) TS (B) WS

(C) whIEen (D). &I

Which of the following special economic zones is in West Bengal ?

(B) Santa Cruz

(A) Surat
(C) Kandla (D) Falta
<faror w1 G w78 WA R A= E 2
(A} TR (B)

C) e (D) #FS

Which is the biggest river valley project of South India ?

(A) Tungabhadra (B) Sharavati

C Chambal (D} Hirakud
(C)

|24[M]-HIS-4 1005-(s1760) ’ Page 13 of 40
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.

29.

30.

31.

|11
W § W& 1 wwrw 5wk g e mn o

(A)  UED Form 3w fgh (B)

e wom TS wawm

(C) Tyl (D) WA w19 7w w1

Who started Radio broadcasting in India ?

(A)  Radio Club of Delhi (B) Radio Club of Calcutta

(C) Akashvani (D)  Radio Club of Bombay

mmmm%gwmﬁuaﬁmmmmmmﬁmgm?

(A) 1972 (B) 1985

(C) 1992 (D) 1995

When was the First World Summit held for cenvironmental
protection ?

(A) 1972 (B) 1985
(C) 1992 (D) 1995
farm ®1 #13 e g =1 @ @@ 3w 2 0
() T (B) eI
€ it D) Fx

Which district of Bihar is the largest producer of jute ?

(A)  Gaya (B) Bhojpur

(C)  Purnea (D) Kaimur

[24(M)-H/S-4 10051817607

Page 14 of 40

by:BSEBResult.In



32.

33.

34.

(111 ]

= H A R “Rigr @1 O &g I E 2

(A)  ER ‘ (B)
(C) I (D)

Which of the following is called "Sorrow of Bihar

(A)]  Son (B)

‘[ﬁ?} Kosi (D)

TR & IE U N U9 I B 2

(A) T (B)
(C) ¥NEs (D)

&

3

Frr.,

Gandak

Punpun

apfem

HATCh

Which state is leading/in the production of bauxite ? !

(A) Gujarat (B)
(C) Jharl:chand (D)
7ot gt @t o STl @ 2

(A) ARG (B)
() uitam e (D)
Where is black soil found ?

(A). Jharkhand (B)
(C) West Bengal | (D)

R
8 24(M)-H/S-41005-81/60)

Odisha

Karnataka

ETEE YeH

Maharashtra

Arunachal Pradesh

Page 15 of 40
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35.

36.

37.

[ 111
RN WA 2 favm vaffa Fiam § a1 0

(A)  gwl B) dred

(C) =t (D) i

Bokaro Stcel Plant was built in which Five-Year Plan ?
(A)  Second (B) Third

(€)  Fourth (D)  Fifth

mmmm%m%%a%aﬁmﬁagq?
(A) & 1 93N

(C) Tewren 83

(B) ufpardt 72
(D) 3 E R

Most of the iron and steel

plants wcre established in which region
2Of India ?

(A) Deccan-Plateay (B) Western Coast

(C)  Himalayan Region (D)  None of these

o 1 @ o it wteiig R v s 2 o

(A) WX (B) &R

(C) TR D) 39 ¥ oy
Which of the lollowing is called new alluvial soil ?

(A) Khadar (B] Bangar

(C) Regur " (D) All of these

|24{M)-H /S-41005-1/60)
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38.

39,

40.

{111}

forl W & it qm qad AfYH T AN R 2

(A)  YER T (B) H=HA
C) dfraft 72 (D) ¥eHA-fwER f 77

In which part is mangrove forest mostly found ?

(A) North-eastern states (B) Sundarban

(C) Western coast (D) Andaman-Nicobar islands

e 8§ @ 99 WA § gatfus 9@ faes 7w 2 2

(A) =if= (B) el
(C) UNIéM D) T
Which of the following is the largest tca exportng port i India ?
(A)  Kochi (B) Kolkata

(D) Mumbai

(C) Paradip
frg § @ 9 g T\ I 4 3l 2 ?

(A) I (B) TEH
(c) T3 (D) T

Which of the following is leading in the producton of co

textile ?
(A] Kolkata (B Nagpur
(C} Mumbai (D) Surat

-----

24(M)-H:S-31005-151/60 Page 17 o 2]
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42,

43.

REr 1 B -a1 ot waifs @@ w@w 2 o

(A) e @

(©)  aff (D) ek
Which part of Bihar is the mest prone to flood ?
(A)  Eastern (B) Northern
(C)  Southern (D) Western
T ¥ TR &9 & 37 »

(A) 1998 (B) 2001

(C) 2002 (D) 2005

When did the severe earthquake occur in Gujarat ?

(A) 1998 (B) 2001

() 2002 (D) 2005

it S W A e 36T & fore B aorn e 3 o
(A) =87 1 Huger (B) & ¥ Nz
(€) Ry f=m (D) % A avf

[Ill;

Which scheme has been launched to prevent the decline of

underground water level ?
(A)  Rainwater harvesting (B)

(C)  Drip irrigation (D} All of these

Watershed management

24(M)-H/S-4 1005-(51/60)
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a1,

46.

frea 6 o )t efoqu famm 1 5 R 2

(A)

(C)

R

H14fi

B) “H

(D) HHEA

Which of the following is a river of south Bihar ?

Al

(©)

Gandak

Kosj

(B) Son

(D) Kamala

(111 ]

feaen dur) ) wAr ST & a1 e 41 A A fea gfe g 2 2

(A)

(Ci

e T
& T

(B) HETH

(D) YRR

How much does the intensity of carthquake increase after each

unit of the Richter'scale ?

(A)

(C)

Five times

Ten times

(B) Scven times

(D) Fifteen times

T 1 qTEEET U FA R ?

(A)

(C)

-

iC
faiam

(B) TR
(D) TR

Which is the 22nd State of India ?

(A)

(C)

Goa

Sikkim

(B) Mizoram

(D) Manipur

34(M]-H/5-31005-(51/601 |
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47.

48.

19,

[!ll|
IQ?:l%mr.iuﬁ?ﬁlfamwmﬂ_mmm%?

(A)  ®R@ swhifa (B) vl swifa

C) Ty wifa (D) 3@ wifa

By what name is the mass struggle of 1974 known ?

(A} Green Revolution (B) Total Revolution

(€)  Rainbow Revolution (D) White Revolution

m,ﬁﬁn,mﬁmﬁﬁmtﬁﬂﬁ@ﬂqﬁ?
(A) w9 g (B

(C) wHa< |

T gt
(D) %8 & |y
Moncy, banking, communications |

ike matters are kept in which
hist ?

(A)  Union List (B)  State List

(C) Concurrent List (D) All of these

mfaum $i 12 < Irggeh 1w frea 2 o

(A)  IrwifEe & sy B TR-Frm F 3w 85

€ TEwAhBEE T D) M s

24 (M]—H_[S-*l 1005-151/60)
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(111 ]
What is the 12th schedule of the constitution related o ?
(A)  Jurisdiction of municipality
(B) Income sources of municipal corporation
(C)  Directive principles of state
(D) Fundamental rights

Waﬁmmﬁﬁaﬂwﬁﬁ_ﬁﬁmmmﬁﬁﬂm%mﬁ
HTAl ¥TH 2 ?

(A) 20 (B) 21
(C) 18 o 19

How many other languages are recognised as scheduled languages

by the constitution besidcs Hindi ?

(A) 20 ® 21
(C) 18 (D) 19

Tt gdl ) ffa wdvem o U H 98t ?

) feeE (B) A

©) % (D) g T IR

In which country was the foundation of political parties laid for the

first time ?

(A) Britain (B) India

(C) Francc (D) United States of America

24(M)-H/5-41005-(51/60) Page 21 of 40
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o4,

mulﬁqﬁﬁfr—nﬂnﬁi&uﬁﬂtﬁﬁfﬂ%?
(A} T, TSR, I wen (B HEMIY, M, wtes
(€ T9E, qerg, nw wem () HEE, B 92N, wemmy

With which states is the Narmada Valley Projcct related ?

(A)  Gujarat, Rajasthan, Uttar Pradesh

(B) Maharasera, Goa, Karnataka

(€)  Gujarat, Maharashtra, Madhya Pradesh
(D)

Maharashtra, Madhya Pradesh, Chhattisgarh
%2 3w ) v g 2
(A) 1950 (B) 1958
(C) 1973 (D) 1999
When was the West Indies Federation established ?
(A) 1950 (B) 1958

(C) 1973 (D} 1999

P oA w1 afauE $ fER st § wm o mr g o

| 14K |

Al SR B) TR 35
24(M)-H/S-4 1005-(s1/60) Page 22 of A
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(A [111]

[n which article of the constitution has the local sell government

been given a place ?

(A}  Article 31 (B) Atticle 35
(C)  Article 40 (D)  Article 42
s5. P @ RRR e o e 2 2
(A)  TEE S (B) TS g
() wfems arfaen D) fR-fyw aa

Which of the following has been called the ‘lifelinc of democracy’ ?
(A) Local self government  (B] Political parties
(C} Fundamental Rights < (D) Directive Principles

o6, T & wET U WA orEe g ?
(A] WA (B) ¥

(C) GEH UA I (D) R
Which of the following has a unitary system ol government ?
(A) India

(B) England

(C) United States of America

(D) Australia

24(M)-H/S-41005-(51/60) " Page 23 of 40
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57,

8.

(€} Multi-party system (D)

|111|
ﬁqﬁﬁ%mﬁﬁgﬁsmﬂwm%?

(A)  TEk (B) HRgw

C)  AN-31gw (D) %6 & omft

Who of the tollowing is appointed by the state government »

(A)  Mayor (B)  Mukhiya

(C}  City Commissioner (D) All of them

mwﬁmmﬁmﬁmﬁﬁﬁumﬁ‘aﬁ%?
(A)  USH-gei syaey (B) ﬁa?ﬁ‘qaarmn

(C) =celra ey D) ¥ & % 94

In which ‘af the following systems, there is a possibility of forming 4

coalition government ?

(A) One-party system (B) '[‘wn-part}r system

None of these

59. ﬁmﬁéwmﬁwmﬁm%?

(A) 97 &= ] @me (B) IeTEER

(C) mfem (D) T T

24(M)-H/S-41 005-(s1760)

by:BSEBResult.In

Page 24 of 40




ﬂ il

which of tie following is o bod resull of the spirit of regionalism ?

(A)  Fondness ol own region (B) Scparatism

(€)  National interest (D) National integrity
oo, anureres waifu0 /) Ry sl 6 i R?

(A) T 9L @) A

(C) W UERd D) M ufteg

Where is the exccutive officer appointed ?

(A)  Gram Panchayal (B) Municipal Corporation

(C) Nagar Panchayat (D) Nagar Parishad

o1 Fret & @ sl o RIS ) ST E P

(A)  SfeSEH @) Ial s

(c) afafa (D) AT

[n where of the following was the social division based on
language ?

(A) Belgium (B)  Northern Ireland

(C) Bolivia (D) Nepal

wfagm @y &l Tgd fépmn M ?

62.
(A) 1945 (B) 1946
C 1947 (D) 1948
[ZA(M]-1175-41005 17601 Page 25 of 40
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By |
When was the Constituent Assembly formed ? '

(A) 1945 (B) 1946
(C) 1947 (D) 1948 |
63. AN M H e F g P
(A) 1948 (B) 1950 l
(C] 1952 (D) 1954
Whcen was the Planning Commission formed ?
(A) 1948 (B) 1950
(C) 1952 . (D}g 1954
64. Y& I ugehl ura frwmm fdtd s Tl & 0 2
(A)  W%,.2000 (B) 31, 2001
(C) ¥, 2002 (D) 3R, 2005
When was the first Human Development Report of India released ?
(A)  May 2000 (B) April 2001
(C}  April 2002 (D)  August 2005
6s. Tt @ fufwr &1 A urvevs frad R o
(A)  dger i (B) M s
(€ wfa fmma afeeg (D)  fifr s
24(M)-H/S-41005-51/60; Page iﬂaﬁ
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67.

(111

Wwho gave the calorie criteria for determining the poverty line ?
(8) Tendulkar Committee

(B) Planning Commission

(C) National Development Council

(D)  NITI Aayog

vyt &1 aiiefire w=n wgemr & ?
(A) = B) T
(C} M (D) ¥MH

What is the remuneratian-of land called ?

(A) Interest (B) Wages

(C) Profit (D) Rent

ww%ﬁmmwmm‘é?
LTI

FAICH

(a) T (B)
(C) derrE (D)
Which state of India has the highest per capita Income ?

(A) Goa (B) Punjab

e

(C) Telangand (D) Karnataka

by:BSEBResult.In
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68. %ﬂﬁﬁm%m%aﬁﬁwﬁamﬁﬂﬁqaﬁaﬁ@ﬁmaﬁm%i
e R FFSAT 2 7

(A)  ¥Fs Tl Iare (B) HHdl 9ie INTe

(C) Y8 97 3E (D) g UM I

What is the monetary value of all final goods and services Produc,

within a country in a year called ?

(A} Gross National Product (B)] Gross Domestic Product

(C)  Net Domestic product (D) Net.National product

69. Wio Hlo Hlo WareHE $t seram A frad = fear a7 -

(A)  *=1 Tfersr g (B) ura fawm gEwiw

(C) wgg = wfaf (D) IS HEM
Which was formed wunder the chairmanship of Prof. P ¢

Mahalanobis ?

(A)  Central Statistical Organization

(B)  Human Development Index
(C}  National Income Committee
(D} Planning Commission
124(M)-H/S 3 1005-(51/60)] Page f
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0.

i

frd ® & forn 91 o) AR IR

(A)  MIE (3) A9A
(c) 9ferwm (D) &Td A 7
Rupce is the currency of which of the following countries ?
(A) India (B) Nepal
(C) Pakistan (D)  All of these
q9q 71 8 2

(A)  I9NIT qen =d 1 AU (B) Ard A1 TTEM T 5

(C) I ae IdTed &1 HR (D) T B RS AA

What is saving ?
(A)  Difference between consumption and saving
Differénce between income and consu mpuon

(B)

(C) Difference between consumption and production

(D) None of these

P @ w4 AT 9 TE R 2

(A) I (B) FF 3R

) wfufasd (D) ufen 93
feredit ?

Which of the following is not a lettcr o

(A) Cheque (B)] Bankdraflt

(C) Overdraft (D) Promissory note

RS

1
|

24(M)-H/S-41005-151/60)
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73. A @ @ doft arem a3 2 o
(A)  wingfa aem (B)  sireitfrE aram
() foom faw dam, (D) & 1 mA
Which of the following is a part of capital market ?
(A) Securitics market
(B) Industrial market
(C) Development financial institution
(D) Al of these
74. HEwAl W@ wfufe faaw w9 orfagan 2
(A) 1904 (B) 1912
() 1914 (D) 1919
When was the Cooperative Credit Society Act passed ?
(A} 1904 (B) 1912
(C) 1914 (b} 1919
75. WWA & T%d it I@E (GDP) § fFa éﬁim_maaﬁw%?
(A)  Hf T (B) enfrs a3
AC)  Hm R (D) A F§ TE
24(M)-H/S-41005-s1/¢60) Page 30 ¢
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[111]

Which sector contributes the most o India's Gross Domestic

Product (GDP) ?

(A)  Agriculture sector (B) Industrial scclor
(C)  Scrvice sector (D) None of these
ur@ 4 LPG ifd s sqas mé 2

(A) 1990 (B) 1991

(€ 1995 (D) 2001

When was the LPG policy adopted in India ?

(A) 1990 B) 1991

(C) 1995 -~ (8 2001
@ﬂﬂﬁﬁ?ﬂéﬁﬁmﬁﬁ‘aﬂ%%?
(A) P&

(c) Aa &3

B) Hrenfis 43
D) = & FE T
Mining 18 included in which sector ?

(A) Agriculture sector (B) Industrial scctor

(D) Nonc of these

(C) Service sector
(n) A @) sl F1 -

(C) Fﬁqﬁlﬁaulam (D) I &t &

Eﬁf(M)fH;‘S-?I_U_Q_S-_csuﬁo: ] Page 31 of 40
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Which is the agency function of comumercial bank ?
(A)  To give loan
(B) Buying and xlﬁné of securitics
(C)  To provide locker
(D) To accept deposits
9. TR W gm0
(A) et (B) WE® wEEm
(C) T4t duren (D) ‘sﬁ o aft
What is the basic element of cogperative ?
(A)  Mutual cooperation (B) Voluntary membership
(C) Democratic functioning (D) Al of these
80. T 7 & e g ¢t Pl g 2 5
(A) 3T B) fufom
(€) I D) fafvaim
Which of the following leads tg capital formation ?
(A) Consumption (B) Exchange
() Saving (D) Investment

by:BSEBResult.In
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Mve & / BROTION - H

glitrat / History
my Judlu uyn / Bhorl Answer Type Quenstions

i W L& 6 am ay anele o gl o [l 9ol o gore 41 stedss 600 #

Qv 2w Piia { 446
Croestner Neso T 0oane sShort Ansteer gpe. Ansiver (il I et sl &
f e :J' - f:

l_' - ..' aw L w -
ciT3 AUESTRT AN eS *murths

Lo ) aqldla ud) & wpd A g
Wkt woete the niatn conses for the eennoinic (EpEessiten of 11040072

g Mickert & onflen waa dar v @
Whtt were the ccongitic ellects aF e Non coapeeation Movement v

e w2 wdl Wil @) [y s wnfa faar v 9
IKvissian [¢r-veshalitan v

How Jdid the intelectund nwnkening nffeet the

s PygdEm 8 ugdig & Jqd b @ wdigl) 2
State the veasons (or (he rise of nationnlisem in Vielnam.
2 e wwgldl Rt dlta 3l B 7 | 2
Between whom and why was the Puna Agreement signed 7
s e ot R g 2
Why was the new deal implemented ? .
[24(M)-] 754 1005 (81760 T Page 23 0f 40
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g IwdT e ]Longml'qu:'bn“
T W 7 I 8 3G Teri §1 gd @ e ¢ FIW TN AAE T 3 1
4 & fraffRe & 1x4-,

Question Nos. 7 and 8 are Long Answer Type. Answer any one gj 7—"45-_

Each question carries 4 marks. fx4a, .

7. U9 TeNE % Iq b S T AWE B == BT

=

Discuss the causes and effects of the rise of nationalism in Eurspe

5. W ug e § Wi T SO & areE A Sy

Discuss the contribution.of the Indian National Congress in -

Indian National Movement. ;
{1 [T / Political Science

g IWA WS / Short Answer Type Questions

¥ AT 9 W 127F 7T TG 1 T @ BT 20 & v &1 gAS T
& forg 2 i Frafer &1 2x2-4

Question Nos. 2 te 12 are Short Answer Type. Answer any 2 questio™s

Each question carnies 2 marks.

A lEe
9.  AegE dred & o @an fee gwg 2 -
How is communalism a threat to democracy 2 T
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0. UE HEEN % BT F@TIT

State the jurisdiction of the village court.

n.#ﬁﬁ%ﬁmﬁwmﬁmﬁﬁ? 2
What is the utility of opposition party in a democracy ?

12. Wﬁmwmﬁﬁmmﬁ&m 2
Explain the difference between Federal and Unitary govern ment
systems.

e 39{9 9¥9 / Long Answer Type Quc_:stions
mwa@wzsgi14#&ﬁﬁb§nﬁﬁ#ﬁhﬁmrarﬁwﬁ:mﬁﬁmwdr
1x4=4

e 4 o Fafia &1

Question Nos. 13 and 14 are Long Answer Type. Answer any one of them.

Each question carrtes 4 marks. I x4=4

13. ﬁmm$EWWHﬁmWﬁﬁHﬁnﬁﬂmm$%?mh%ﬁmq 4
How is the Federal system helpful In Natéonal integration ?
Describe. h -

14, mmﬁnmﬁhmﬁmﬁﬁﬁmHﬁﬁﬁhinmﬁanmh£ﬁm 4
Describe the cffects of communal and caste dilferences on the
politics of India.

h ﬁf}tM)-[1/3-4“1_6_({?[51;501 Page 35 of 40
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AUV [/ Economics

oy ITNT Oy / Short Answer Type Questions

T qear 15 @ maa:ﬁgmﬁ#irﬁﬁ#ﬁwﬁzn?ﬁ%méﬁmm

¥ fire 2 aiw Fraffer it

Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions

Each question carries 2 marks. 2x2x=4

15,  #Ha feshre gee & gze 9

2
State the components of Human Development Index.
16. Haq fwm w0 avaws g 9 2
Why 1s sustainable development necessary ?
17. 9% ¥ ¥ g § s e S 2

Explain the difference between cheque and bank draft.

[V

18, mmwaﬁrﬁm%mm%waﬂﬁmﬁaﬁwi

Explain the four rights of the consumer under the Consumer

Protection Act.

e —
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Ry

g1 IWa WA / Long Answer Type Questions

T AT 19 07 20 3T swita §1 9 @ FE v w7 I &1 pedw W &

frg 4 siw Freifte &1 1x4=4

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.

Each question carries 4 marks. ] x4 =4

19. ANRE 98 F yq@ w@l & R fifw 4
Discuss the main functiens of commercial banks. |

20. EEA IR ? o7 B fhd & Tt a6 R ff 4

What is saving ? Discuss the factors affecting saving.

YMe / Geography
wY I W91 / Short Answer Type Questions
99T TEA 21§ 26 aF eg Iwaw 1 37 @ et 3t & s § 1 adw v

& faw 2 sF fuffa &1 | 3x2=6
Question Nos. 2.1 to 26 are Short Answer Type. Answer any 3 questions.
Each question carries 2 marks. 3x2=6
21. WA % R Yq@ TP JEEm & TR TR 2
Name four main national waterways of [ndia.
22,  HEWA d@ & g ® o aikw feufl fafe 2
Write a short note on the utility of resource conservation.
24(M)-H /S-41005-s1/60 Page 37 of 40
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23. e yg @ fanmard fefegu

/
Write the characterinticn of delts aoil,
24, HR-anuila sl afv - sifta st d sia o 4, .,
Differentiate between agro-based and mineral Dissed 1ty oo
25. WHU R w4 wra & o s

Why is bulfer stock created ?
26. Hwradl vt # w1 g 3 -

What is the importance of border roads 7

i awila W / Long Answer Type Questions

w7 WeuT 27 4 28 I ity €19t o frelt vw @y T # 5w g
fre 4 s Praffia 4

144

Question Nos. 27 and 28 are Long Answer Type. Ansuser any one of them,

-Each question carries 4 marks.

1 »4 -4

27. ¥ 4 99 59q 6 9fg & 39 w1 33w fifaw 4
Mention the measures o increase the forest wealth in Indi;.

28. mmﬁﬁm@mm%mmwﬁﬁmmwrsm 4

Write a short note on the impact of globalization on Indian

agriculture,

24(M)-H/S-41005-181/60) Page 38 of 40
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[ 111
HTIST yag< / Disaster Management

#y 39T Wi / Short Answer Type Questions

swar 291 nzawwm%ftﬁﬁ#ﬁ??znﬁ%mé‘smm

v
& fae 2 3% fFiRa &1 2x2=4
Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions.

Each question carries 2 marks.

29,

30.

31.

32.

b R

uﬁﬁmmﬁmﬁrﬁﬂaﬁéﬁ%ﬁémmmﬁi%w%%m 2

Name the alternative communicalion mecans used in natural
calamities.

Tz @ 29 T ahE w1 3gw Fik 2
Mention the damagescaused by-flood.

ga + TN =R 2
State the causes of drought.
qﬁwmaﬁﬁmm%wmaﬁﬁ? 2

[ houses are built in carthquake prone areas ?

fzr a1 A ddfda waht e,
BT YA, 151 T, ,vefate
m ' ! Rf2ri,
fenTies sTeae [B® e Jad
UEs Ut & fST...

What types o
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